Functional Groups
	Name
	Condensed Formula
	Example
	Description

	alkene
	R2C=CR2
	
	contains a C=C double bond

	alkyne 
	RC[image: image1.png]


CR
	
	contains a C[image: image2.png]


C triple bond

	alcohol
	ROH 
	
	contains O singly bonded to a C and a H

	thiol
(thiol alcohol)
	RSH
	
	contains S singly bonded to a C and a H

	Disulfide
	SS
	
	contains S singly bonded to an S

	ether 
	ROR 
	
	contains O singly bonded to two C

	aldehyde 
	RCHO 
	
	contains C doubly bonded to O and singly to H

	ketone
	RCOR 
	
	contains C doubly bonded to O and singly to two C

	hemiacetal
	ROCOHR 
	
	contains C singly bonded to O of ether and of alcohol

	carboxylic acid
	RCOOH 
	
	contains C doubly bonded to O and singly to O of OH

	ester
	RCOOR
	
	contains C doubly bonded to O and singly to O

	amine
	N
	
	contains N bonded to C and/or H

	amide
	RCONR
	
	 contains C doubly bonded to O and singly to N

	aromatic 
	[image: image3.png]



	
	contains a flat six-member ring


1.
What is meant by “R” in the condensed formula column?

